	PROLOG represent _______________ paradigm. 
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	much simplicity in language design can also cause problems. 
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	Following factors influences a portable language design EXCEPT 

[image: image19.png]


Select correct option: 

[image: image20.wmf]
[image: image21.wmf]

Computer architecture




[image: image22.wmf]
[image: image23.wmf]

Readability




[image: image24.wmf]
[image: image25.wmf]

Programmer

’

s time




[image: image26.wmf]
[image: image27.wmf]

Windows XP




[image: image28.png]


  [image: image29.wmf]Click here to 

S

ave Answer & Move to Next Question




	If a language provides a feature of referencing a variable in more than one way then we say that the language provides _________. 
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	LISP was basically developed to solve ________ problems. 
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	Which of the following is an incorrect option from the following statements regarding ‘objectives of learning new languages ’? 
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	Everything for everybody” was the motive of the language 
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	was the first object oriented language. 
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	was considered good for describing algorithms. 
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